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" sun
friends
arm
head
chicken

leg

N v

-.1 : Look and match:

teacher [ grandma | [sing [fouch | pavents chidren tooth | “foot |

3 Unscramble and write:

(B (L ﬂ@

mgnndru | rngr'mmn | dhea thumn'
1|

; .,'_-'ruppl"_.r The misﬂlng lettars:

\Eﬁ 5@<ﬁ:

== or—_dpa| [n A




.5  Choose the correct answer

1-The sun comes (up - on) in the marning.

2- I have (four - two) hands.

3- (This - These) are my parents,

4- The moon is in the sky at (night - morning).
5- (These - This) is my uncle.

6 5 Lookand write ( Y25 ) an (No ) :

h <

- e wp—
T= iT night?

Illlll]lnll'lll [-llll-illi'illi

_"? » Look and write:

e

T

I..ooooion nyfomily in the evening,

8 » Copy the following sentence:

b

RIEH mp pestwishion Mekhaisil Snant O8N OLLLRROAGRE Sy Ui Lgter 2 s Ut [




6222211367,‘ 2 Based on unit

Mid term 1,2,3

_ Evaluation test
Easy Level

_isten and write the missing sound.

| " O

Listen and circle.

0 4-nurse

B5-moon

- T

=T

gl P _I

I § &

Ll iz

—r

| | |
; — 1



Céwzlﬁc’(,‘ 2 Based on unit

Mid term 1,2,3
_ Evaluation test j
Q__.r:’) Easy Level
Look and circle.
. grandpa @/ﬂ evening
H grandma e B4 morning
B i ” stand up
]gd“ﬁ‘ sit down .{
DOOots '
harpener - children
8D =%~ chicken
3\
=
2 Te
ebe




